P 2L d https://lwww.pass2lead.com/a2160-669.html
ass ea 2024 Latest pass2lead A2160-669 PDF and VCE dumps Download
https://Pass2Lead.com

A2160-669°¢AS

Assessment: SOA Fundamentals [2008]

Pass IBM A2160-669 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.pass2lead.com/a2160-669.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

A2160-669 PDF Dumps | A2160-669 Study Guide | A2160-669 Braindumps 1/3


https://www.pass2lead.com/a2160-669.html
https://www.pass2lead.com/a2160-669.html
https://www.pass2lead.com/a2160-669.html

P 2L d https://lwww.pass2lead.com/a2160-669.html
ass ea 2024 Latest pass2lead A2160-669 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

What describes the purpose of the Enterprise Service Bus (ESB) in an SOA?

A. It provides separation of concerns so that each service can be managed separately.

B. It provides a design that allows components to be changed with less impact to the consumer.

C. It allows a service consumer to make a service request without knowing the details of the operation.

D. It implements service functionality by integrating existing back end service functionality using routing and
transformation logic.

Correct Answer: B

QUESTION 2

A company has prioritized their most important requirements for SOA to be the need to speed up

integration, reduce application redundancy and provide the flexibility to change service

implementations. Which type of project should be recommended?

A. Create a common metadata model that can be used for all development projects.

B. Implement an Enterprise Service Bus (ESB) and registry/repository as a connectivity layer in the SOA architecture.

C. Document the existing architecture, legacy systems, and interfaces. Make this available in a common repository that
can be accessed by all developers.

D. Use business modeling tools to model and simulate the application development process and identify bottlenecks.
Address highest priority bottlenecks that can be automated to E.

Correct Answer: B

QUESTION 3
An organization plans to automate a business process and expose the result as a service. How
should humans interact with such a business process in the context of SOA?

A. A Web application may be developed to act as a service consumer, allowing humans to invoke the automated
business process. Any activity in the business process may be

B. The use of human activities in such a business process is not recommended since the slow response that will be
received from humans is not suitable to the synchronous

C. A Web application may be developed to act as a service consumer, allowing humans to invoke the automated
business process from a browser. All activities in the business

D. A Web application may be developed to act as a service consumer, allowing humans to invoke the automated
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business process. Only unusual steps in the business process
E. All other activities should be performed by automated service providers.

Correct Answer: A

QUESTION 4

What is a key difference between a component and a service?

A. A service is deployed once and a component is deployed many times.
B. A component is deployed once and a service is deployed many times.
C. A component has an interface and a service implements the interface.
D. A service has an interface and a component implements the interface.
E. A service does not have a well-defined interface and a component does.

Correct Answer: D

QUESTION 5

Which people, organizational or technology factors would limit an organization\\'s readiness for
SOA?

A. Skills not available

B. Standardization of services in each industry

C. Tight integration with their business partners

D. Frequent inspection of the current business model and its components

Correct Answer: A
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